5 minutes
MATHS KNOWLEDGE ORGANISER - YEAR 3 Measure Analogue clock  between each Tables and Graphs

Length Mass Time on the 12 hour clock o'clock number Pictogram Key
1 metre = 100 centimetres 1 kilogram = 1000 grams Morning | Afternoon five tq TS /ﬁve past Number of cakes bought 8 =
1 centimetre = 10 millimetres 1%;09 ahnt”' 12:00 pm tento £ “\ ten past Morning 8833 ? cakes
2 kg — 350 g = 2000 — 350g |_Midnight | noon " b
2cm+6mm=20mm+6mm =1650 g 1:00 am 1:00 pm quarter to '9 3' quarter past Afternoon 8888888
=26 mm (or 1.65 kg or 1 kg 650g) ;fgg :E ;fgg Enmq : . Evening 888
(or 2.6 cm, or 2 cm 6 mm) 4:00am | 4:00 pm twenty to < / twenty past Tally chart Block graph
Volume Time 5:00am__ | 5:00 pm twenty five to ~~~-L~ twenty five past Year 3's pets Year 3’s pets
1 litre = 1000 ml hours (h) sfgg :E sfgg p: half past 12
x 60 +60 . b Time to orbit the animal tally total|
700 ml + 820 ml = 1520 m| ( > 8:00am | 800pm | . " e 542 da 10
9:00am | 9:00 pm . ys ey cat M 9

(or 1.52 1 or 11250ml) ( minutes (m|n)> 10:00 am | 10:00 pm < —
o T B Q. o 5
11:00 am 11:00 pm
P , ‘7 dog MM Il 12

Perimeter seconds (s) 12:00 pm | 12:00 am 7
noon midnight 1year = 365 days fish |l| 2 | 6

R S — Count all Money 1 leap year = 366 days (every 4 years) o J,HT | ; _|
t_hfsedges Calculate a bill Calculate change by adding on 30 days hath September, 4:

h Burger: £2.20 +8p +10p +50p +£3 April, June and November. || oird |lll 31,

Chips: £1.10 /—\m/—\ All the rest have 31
! Total pets| 32 —

. Drink: 65
5cm Perimeter P p132 £140 £150 £200 g5.00 CXCeptforFebruaryalone, 0

=2+5+42+5 Which has but 28 days clear d fish bbit  bird
2cm -14 Total: £3.95  Change from £5 = £3+50p+10p+8p And 29 in each leap year. cat og  fish rabbit bir

=lacm _ Animal

= £3.68
2D Shapes  Triangle - 3 sides 3D Shapes Angles .
. . One right angle
. . ‘ Cuboid cube Cylinder  Sphere angle = the 90°
A \ <> \ amount of turn L\ quarter turn
equilateral right-angled isosceles scalene " .
Triangle acute

Two right angles
j\ 180°

Half turn

(regular) . : :
cone triangular prism square based pyramid 3 angles :
Quadrilaterals 4 sides Pentagons 5 sides “ @ ‘
- . ‘ Quadrilateral right angle

square rectangle parallelogram regular irregular Lines i*j Yy =90°
(regular) h) 4 angles

hexagons 6 sides

-‘ ’ <:><> //_ | Peftagon obtuse
Horizontal vertical parallel perpendicular
5 angles

trapezium  rhombus kite regular irregular

N B

AN

j\ 'Zrh(r)ee right angles
7 o

Three quarter turn

Four right angles

360°
3} One whole turn




Multiples Place Value Multiplication and division MATHS KNOWLEDGE ORGANISER - YEAR 3
3 4 8 50 100 Hundreds Tens Ones Multiply 2-digits by 1 digit
x0 |0 0 0 0 0 47 x3 40
x1 3 4 8 50 100 . . I I I I Column method  Grid method Partitioning
X2 |6 8 16 100 | 200 a7 x|l40]|7 47x3=40x3+7x3 8 | 8 | 8 | 8 | 8
x3 9 12 24 150 | 300 2 3 7 3l120l21 =120+21 8x5 =40 40+5=8
x4 |12 |16 |32 |200 | 400 x__3 =141 5x8=40 5-40+8
x5 |15 |20 |40 | 250 | 500 237=200+30+7 141 120 +21 =141 o )
T X
x6 18 24 48 300 | 600 1 more =238 Only the ones digit 2 /R —
X7 |21 |28 |56 |350 | 700 lless =236  changes. Making links and using facts: 6x3=18 60x3=180 7x8=56 14x8=112
x8 |24 32 64 400 | 800 o N y) N )
X9 27 36 72 450 | 900 10 more i 247  Only the tens digit <10 2
x10 |30 |40 |80 | 500 | 1000 10less =227 changes.
x11 | 33 44 88 550 | 1100 100 more =337 Only the hundreds Fractions Fractions of amounts
x12 | 36 48 96 600 | 1200 100 less = 137 digit changes. Comparing and ordering To find 1/5, divide into 5 equal parts.
Naming numbers Order Numbers Same numerator Same denominator } —1 } : :
Compare HundredS‘Tens‘Ones‘ H @ E E % & ! Each iart
One hundred Four hundred hundreds 2 5 8 8 s E
ne hundre . -
. first. 2 1 1 1 e
and fifty three and thirteen 2|9 — > - > - 1.3 _5_7
4 7 3 2 3 6 8 8 8 8 3 2
Six hundred 1 > Y The larger the denominator,  The larger the numerator, E of the i%i\{i\(** E of the
and nine 2 2 1 the smaller the fraction. the larger the fraction. stars are yellow. stars are red.
1
473 > 258 >223 > 221 > 157 Equivalent fractions = of 20=20+5=4 20
Mental addition 165 + 232 Written addition 569 + 123 2 f20-ax2-g Al4lalas
. 5 - - 8
Partitioning 569 Make sure 1 ~ 2 ~ 3 ~ 8 3 12
100+60+5+200+30+2=300+90+7 the digits D) - 2 - 6 - 16 §0f20=4X3=12
=397 + 123 are lined up
Mental subtraction 649 - 235 692 in the right Tenths
e — columns. Tens Ones Tenths
gzgﬂtlcz?ggvg 30-5=449-30-5 1 ! = 2 = = 0 2 > ) 8
oY TR 4 8 12 24 .
=419-5 . . One whole divided into 10 equal parts
_ Written subtraction 437 - 118 .
=414 h 1 To find one tenth,
2.1 Addition and subtraction Vi
Counting on from 235 4 3 7 4 1 5 [T divide by ten.
235+ 5 = 240 I | 577 achpart-itentn=i-
_ 7 77 part =1 tent 0.1
240 + 400 = 640 118 10
_ — 4 1 3 0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
400+9+5=414 7 7 7 0 110 1% 1% 1‘:) 150 1% 170 1% 1% 1




